5.8 Przyimki w zdaniach w stronie biernej — klucz

Uwaga: Ponizsze angielskie zdania nie zawsze sg jedynymi mozliwymi ttumaczeniami polskich zdan z éwiczen. W nawiasach

umiescilismy alternatywne stowa lub amerykanskie odpowiedniki brytyjskich stow.

Cwiczenie 1/1

zdania w stronie czynnej

zdania w stronie biernej

1la. Someone should take care of
this problem.

1b. This problem should be taken care of.

2a. They can’t count on your
generosity.

2b. Your generosity can’t be counted on.

3a. With whom does
this businessman determine
the conditions of co-operation?

3b. With whom are the conditions of
co-operation determined?

4a. Who does this businessman
determine the conditions of
co-operation with?

4b. Who are the conditions of
co-operation determined with?

5a. Didn’t they put off (postpone)
the date of the trial?

5b. Wasn’t the date of the trial put off
(postponed)?

6a. What did they accuse him of?

6b. What was he accused of?

7a. Why do they laugh at that boy?

7b. Why is that boy laughed at?

8a. Some (people) don’t agree with
this popular belief.

8b. This popular belief isn’'t agreed with by
some (people).

9a. Will they give away the money?
(Will they give the money away?)

9b. Will the money be given away?

10a. What will they try him for?

10b. What will he be tried for?

11a. For what will they try him?

11b. For what will he be tried?

12a. What did they put out
(extinguish) the fire with?

12b. What was the fire put out
(extinguished) with?

13a. With what did they open
the safe?

13b. With what was the safe opened?

14a. What did they open the safe
with?

14b. What was the safe opened with?

15a. To whom did the author dedicate
the book?

15b. To whom is the book dedicated?

16a. Who did the author dedicate
the book to?

16b. Who is the book dedicated to?

17a. They don’t blame anybody
(anyone) for the accident.

17b. Nobody (No one) is blamed for
the accident.

18a. They looked at me with terror.

18b. | was looked at with terror.

19a. Why didn’t they operate on
the injured boy immediately?

19b. Why wasn’t the injured boy operated
on immediately?

20a. They'll replace glass with plastic.

20b. Glass will be replaced with plastic.

21a. What will they replace glass
with?

21b. What will glass be replaced with?

22a. From what do the glasses
protect your eyes?

22b. From what are your eyes protected
by the glasses?

23a. What do the glasses protect
your eyes from?

23b. What are your eyes protected from
by the glasses?

24a. It's vital to arrive at the right

24b. It's vital that the right conclusions are
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conclusions.

arrived at.

25a. Students haven'’t always looked
up to their teachers.

25b. The teachers haven’t always been
looked up to by their students.

26a. If one is well prepared, one can
cope with all the difficulties.

26b. All the difficulties can be coped with
if one is well prepared.

27a. How had they searched for
better tools before the current
century?

27b. How had better tools been searched
for before the current century?
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